Notice for Appointment of Regular /Rural Retail Outlet Dealerships

	BPCI pro	Notice for Appointmen poses to appoint Retail			details ·									
SI. No.	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		Minimum Dimension (in M.)/Area of the site (in Sq. M.). *			Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)	
1	?	3	4	5	6	7		8		9a	9b	10	11	12
		-	Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS		Depth	Area	Estimated working capital requireme nt for operation of RO(Rs. In Lakh)	Estimated fund required for developm ent of infrastruct ure at RO(Rs. In Lakh)	Draw of Lots / Bidding		
	ON 90 FT ROAD FROM AHMAD NAGAR STOP TO ILLAHIBAGH CHOWK ON LHS	SRINAGAR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2	FROM ILLAHIBAGH CHOWK TO KASHMIR UNIVERSITY VIA DARGAH ROAD	SRINAGAR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	BETWEEN KM STONE 229 TO KM STONE 227, ON LHS TOWARDS JAMMU ON NH-44	ANANTNAG	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
5	WITH IN 4 KM OF BARNOTI EITHER SIDE ON NH-44, LHS FROM KATHUA TOWARDS JAMMU VILLAGE SANGWALI ON NH-44, LHS. WHILE MOVING FROM JAMMU TO KATHUA	KATHUA SAMBA	REGULAR REGULAR	150 150	SC SC	CFS	35 35	35	1225	0	0	Draw of Lots Draw of Lots	0	3
6	VILLAGE GURWETH, WITHIN 800 METERS FROM RAITHAN BUS-STOP TOWARDS DOODHPATHRI ON LHS	BUDGAM	RURAL	55	ST	CFS	20	20	400	0	0	Draw of Lots	0	- 3
7	VILLAGE NANIL, WITHIN 500 METERS FROM NANIL BRIDGE TOWARDS LAIZBAL ON LHS	ANANTNAG	RURAL	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
8	VILLAGE KHANDIYAL GUREZ. FROM ASTAN NALLAH BRIDGE UPTO LINK ROAD BABA DARVESH	BANDIPORA	RURAL	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
9	VILLAGE ZOOHAMA, WITHIN 500 MTRS FROM GOVT. HIGHER SECONDARY SCHOOL ZOOHAMA TOWARDS CHADOORA ON LHS	BUDGAM	RURAL	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
10	VILLAGE KHUTTIAN ON KOTLI SHAH DOULA TO TANDA ROAD, RHS	JAMMU	RURAL	65	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
11	WITHIN 3 KM FROM GDC KATRA KAKRYAL, ON PINTHAL ROAD, ON LHS WHILE MOVING TOWARD KATRA.	REASI	RURAL	100	ST CC-1	CFS	20	20	400	0	0	Draw of Lots	0	2
12	WITHIN 2 KMS FROM MANIGAM CHOWK TOWARDS KANGAN ON LHS	GANDERBAL	REGULAR	155	Open	CC	20	20	400	32	12	Bidding	30	5
13	ON KP ROAD, WITHIN 2 KMS FROM AABI HAYAT FISH FARM NEAR AKAD PARK TOWARDS PAHALGAM ON RHS	ANANTNAG	REGULAR	156	OBC	CC	35	35	1225	32	12	Bidding	30	4
14	VILLAGE TRAL E BALA, FROM TRAL FIRE STATION TOWARDS DARSARA ROAD WITHIN MUNICIPAL LIMITS OF TRAL	PULWAMA	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
15	BETWEEN GURUDUWARA SHALTENG TO AMITY INTERNATIONAL SCHOOL ON LHS TOWARDS NARBAL	SRINAGAR	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
	SADRABAL, ON LHS FROM KANITAR TO SIR SYED GATE KASHMIR UNIVERSITY	SRINAGAR	REGULAR	230	Open	DC	20	20	400	32	75	Draw of Lots	15	5
17	VILLAGE SIRNOO, WITHIN MUNICIPAL LIMITS OF PULWAMA FROM MURRAN CHOWK TOWARDS MURRAN ON LHS	PULWAMA	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15 0	4
	UPTO 2 KM FROM MILE STONE NO. 207 ON LHS WHILE MOVING TOWRDS JAMMU KURSU PADSHAHI BAGH, ON RHS WITHIN 300 METERS FROM NOORANI MASJID TOWARDS LASJAN	UDHAMPUR SRINAGAR	REGULAR REGULAR	160 150	SC Open	CFS	20 20	20	400	32	12	Draw of Lots Bidding	30	3
20	DANGIRPORA.WITHIN 500 METERS FROM DANGERPORA PULWAMA CHOWK TOWARDS SRINAGAR ON LHS OF CIRCULAR ROAD	PULWAMA	REGULAR	110	Open	DC	20	20	400	32	55	Draw of Lots	15	
	ON LHS FROM SOPORE FRUIT MANDI TO AMARGARH CROSSING ON SOPORE RYPASS	BARAMULIA	REGULAR	125	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
22	VILLAGE SHAMPORA SRANSOO, FROM BSNL OFFICE QAZIGUND TO R&B OFFICE QAZIGUND ON LHS	ANANTNAG	REGULAR	105	Open	DC	20	20	400	32	55	Draw of Lots	15	5
23	BETWEEN KM STONE 42 TO KM 44 ON NH-44 LHS FROM SANGRAMA TO BARAMULLA	BARAMULLA	REGULAR	154	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
24	WITHIN MUNCIPAL LIMITS OF CHADORA, FROM CHADOORA TOWARDS SURASYAR ON RHS	BUDGAM	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
25	WITHIN 2 KMS FROM FOREST CHECKPOST CHOWGAM TOWARDS KULGAM ON LHS ON NH-444	KULGAM	REGULAR	150	Open CC-1	CC	35	35	1225	32	12	Bidding	30	5
26	CHATPORA, WITHIN MUNICIPAL LIMITS OF PULWAMA, FROM MAIN CHOWK PULWAMA TOWARDS RAJPORA ON RHS	PULWAMA	REGULAR	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
	BETWEEN MILESTONE NO 46 TO 50 LHS ON NH 244 (RIVER SIDE) TOWARD PUL DODA TO KARARA.	DODA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	WITHIN 3 KMS FROM CLOCK TOWER PULWAMA TOWARDS NEWA ON LHS ON NH444	PULWAMA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	WITHIN 2.5 KMS FROM TEHSIL OFFICE KOKERNAG TOWARDS ACHABAL ON RHS, NH 244 VILLAGE CHINKIPORA. BETWEEN SOPORE POLICE STATION AND MASJID SIDIO AKBAR ON LHS TOWARDS BANDIPORA	ANANTNAG BARAMULLA	REGULAR	152	Open	CC	20	20	400	32	12	Bidding	30	5
31	VILLAGE CHINKIPORA, BETWEEN SOPORE POLICE STATION AND MASJID SIDIQ ARBAR ON LHS TOWARDS BANDIPORA VILLAGE DIANI ON NH-44 ON RHS FROM JAMMU TO LAKHANPUR	SAMBA	REGULAR REGULAR	104 150	Open ST	DC CFS	20 35	20 35	400 1225	32 0	55	Draw of Lots Draw of Lots	15 0	5
	WITHIN 2 KMS,FROM PAHRI CHOWK KANDIZAL TOWARDS KHADERMOH ON NEW RING ROAD, EITHER SIDE	PULWAMA	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	WITHIN 2 KMS FROM IQBAL MEMORIAL INSTITUTE KOKERNAG TOWARDS ACHABAL ON LHS, NH 244	ANANTNAG	REGULAR	156	Open	CC	20	20	400	32	12	Ridding	30	5
	REASI TO SHIVKHORI ON NH 144.	REASI	REGULAR	150	Open CC-2	DC	20	20	400	32	95	Draw of Lots	15	5
35	WITHIN 2 KMS FROM LANGATE CHOWK TOWARDS BARAMULLA ON LHS	KUPWARA	REGULAR	150	OBC CC-1	DC	35	35	1225	32	95	Draw of Lots	15	4
36	WITHIN 2 KMS FROM VAILOO BRIDGE TOWARDS KOKERNAG ON LHS	ANANTNAG	REGULAR	150	ST CC-1	CFS	20	20	400	0	0	Draw of Lots	0	3
	NATIPORA CHOWK TO NOWGAM CHOWK	SRINAGAR	REGULAR	160	Open	DC	20	20	400	32	75	Draw of Lots	15	5
	VILLAGE SEMTHAN, WITHIN 1 KM FROM SEMTHAN EIDGAH TOWARDS BIJBEHARA ON LHS	ANANTNAG	REGULAR	108	Open	DC	20	20	400	32	55	Draw of Lots	15	5
	WITHIN 2 KMS FROM AISHMUQAM POLICE STATION TOWARDS PAHALGAM ON LHS AKHNOOR	ANANTNAG	REGULAR REGULAR	162 100	OBC ST	DC CFS	35 20	35 20	1225 400	32 0	95 0	Draw of Lots	15 0	4
	WITHIN 2 KMS FROM SLITHSLI KALAN IRRIGATION PLIMP TOWARDS NEWA ON LHS	BUDGAM	REGULAR REGULAR	158	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
42	VILLAGE ZIRPARA. WITHIN 500 METERS FROM SPORTS STATDIUM BIJBEHARA TOWARDS PAHALGAM ON RHS	ANANTNAG	REGULAR	112	Open	CC	20	20	400	32	12	Bidding	30	- 5
	FROM SYEDPORA-BATPORA ROAD CROSSING TOWARDS SHALIMAR WITHIN 1.5 KMS	SRINAGAR	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
44	CHHAJWAL ON NH44	SAMBA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 5 KM FROM CHATTIAR BRIDGE ON LHS TOWARDS JAMMU ON NH 144A FROM RAJOURI TO JAMMU	RAJOURI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	BETWEEN JANGLAT MANDI CHOWK TOWARDS SHERPORA ON RHS, WITHIN ANANTNAG MUNICIPAL LIMITS	ANANTNAG	REGULAR	130	Open	CC	20	20	400	32	12	Bidding	30	5
47	WITHIN 2 KMS FROM JEE SAHIB POWER HOUSE KANGAN TOWARDS GANDERBAL ON RHS WITH IN 2 KMS OF KOOTHA MORH ON EITHER SIDE. NH-44. LHS. WHILE MOVING FROM JAMMU TO KATHUA	GANDERBAL KATHUA	REGULAR REGULAR	150 150	OBC Open CC-1	CC	20 35	20 35	400 1225	32 32	12 12	Bidding Bidding	30 30	4
	FROM MILESTONE 208 TO 211 ON NH144A BHIMBER GALI-POONCH ROAD ON LHS.	POONCH	REGULAR	150	Open CC-1	CFS	20	20	400	0	0	Draw of Lots	0	3
	FROM MILESTONE 208 TO 211 ON NH144A BHIMBER GALI-POUNCH ROAD ON LHS. WITHIN 5 KMS OF PALLI MORH ON NH-44. LHS FROM JAMMU TO LAKHANPUR	KATHUA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
51	BETWEEN CHAINAGE NO 71 TO 73 ON NH-44 ON LHS FROM UDHAMPUR TO RAMBAN	UDHAMPUR	REGULAR	150	Open	DC	20	20	400	32	95	Draw of Lots	15	5
52	WITHIN 2 KMS FROM KHUDWANI FLYOVER NH 44 TOWARDS SRINAGAR ON LHS.	ANANTNAG	REGULAR	150	Open	CC	35	35	1225	32	12	Bidding	30	5
	WITHIN 2 KMS FROM ALSTOP CHOWK ON NH-44 TOWARDS ACHABAL ON NEW BYEPASS	ANANTNAG	REGULAR	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
	WITHIN 5 KM OF VILLAGE DALOGRA, ON RHS OF NOWSHERA TO RAJOURI ROAD.	RAJOURI	REGULAR	153	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	WITHIN 1 KM, FROM BEHAMA CHOWK TOWARDS WAYIL BRIDGE ON LHS	GANDERBAL	REGULAR	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
	WITHIN 500 MTRS FROM BATPORA BUSSTAND ON NEW BYEPASS TOWARDS SRINAGAR ON LHS	SHOPIAN	REGULAR	105	Open	CC	20	20	400	32	12	Bidding	30	5
	ZEWAN, ON LHS FROM BPCL DEPOT TO IOCL DEPOT	SRINAGAR RAMBAN	REGULAR REGULAR	150	OBC ST	DC	20	20	400	32 0	75 0	Draw of Lots	15 0	4
	WITHIN 2 KM FROM DODA MORH ON NH TOWARD SRINAGAR. 6 KM FROM MARTYRS MEMORIAL KISHTWAR TO SHALIMAR HOTEL ON LHS VIA KISHTWAR BUS STAND.	KISHTWAR	REGULAR	150 200	Open	CFS DC	20 20	20	400	32	95	Draw of Lots Draw of Lots	15	5
	6 KM FROM MAKTYKS MEMOKIAL KISHTWAK TO SHALIMAK HOTEL ON LHS VIA KISHTWAK BUS STAND. VILLAGE SOHANJANA (ON JAMMU RING ROAD)	JAMMU	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots Draw of Lots	15	5
	WITHIN 2 KMS FROM SDM OFFICE KANGAN TOWARDS SONMARG ON LHS	GANDERBAL	REGULAR	167	OBC PH	DC	20	20	400	32	95	Draw of Lots	15	4
	ALI JAN ROAD FROM AALI MASJID TO SKIIMS GATE	SRINAGAR	REGULAR	190	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
63	VILLAGE SARORE ON NH-44 (JAMMU RING ROAD)	JAMMU	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	VILLAGE GURHA MUNDIAN ON NH-44, LHS, WHILE MOVING FROM JAMMU TO KATHUA	KATHUA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	VILLAGE SAKTA CHAK, LHS, BETWEEN RAJBAGH BRIDGE TO BARNOTI, ON NH44	KATHUA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	VILLAGE TURGLA ON NH-144A	JAMMU	REGULAR	150	Open	CC	20	20	400	32	12	Bidding	30	5
	WITHIN 5 KM OF VILLAGE- CHAMALWAS ON JAMMU-SRINAGAR NH44 LHS. TEHSIL - BANIHAL	RAMBAN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	VILLAGE ASSARWAN, TEHSIL BHALWAL ON NH-44 IN RETWEEN MAGERKOTE TO NACHI ANA ON NH 44	JAMMU RAMBAN	REGULAR REGULAR	150 170	Open	DC DC	35 20	35 20	1225	32 32	95 95	Draw of Lots Draw of Lots	15	5 4
	IN BETWEEN MAGERKOTE TO NACHLANA ON NH 44. AT BAGONTI ON SUNDARBANI TO NOWSHERA NH 144 A.	RAJOURI	REGULAR	1/0	OBC	DC	20	20	400	32	95	Draw of Lots Draw of Lots	15	- 4
		1	n.coopin	130	Орсп			20	400					

SI. No.	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *		Finance to by the a	pe arranged	Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO(Rs. In Lakh)	Estimated fund required for developm ent of infrastruct ure at RO(Rs. In Lakh)	Draw of Lots / Bidding		
	KALIBARI WML (WITH IN MUNICIPALITY LIMIT)	KATHUA	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	JAMMU CITY (WITH IN MUNICIPALITY LIMITS) RIGHT BANK OF TAWI RIVER (MUBARAK MANDI SIDE)	JAMMU	REGULAR	150	OBC	CC	30	17	510	32	12	Bidding	30	4
	JAMMU CITY WML-1 (PART OF CITY ON LEFT BANK OF TAWI RIVER, BAHU FORT)	JAMMU	REGULAR	150	Open	CC	30	17	510	32	12	Bidding	30	5
74	WITH IN 8 KM FROM MARTYARS MEMORIAL ON KISHTWAR TO CHATROO VIA SANGRAMBHATTA ROAD.	KISHTWAR	REGULAR	170	Open CC-1	DC	20	20	400	32	55	Draw of Lots	15	5 4
	BATHINDI ON SUNJWAN ROAD (WML) VILLAGE KITHER TO CHENANI TUNNEL ON ROAD NH 44 UDHAMPUR TO SRINAGAR LHS. TEHSIL & DIST. UDHAMPUR.	JAMMU	REGULAR REGULAR	150 140	OBC ST	DC	30	17	510 400	32	75 0	Draw of Lots Draw of Lots	15 0	3
	AT RATHIAN(LHS/RHS) WITHIN 5 KM EITHER SIDE INDUSTRIAL AREA UDHAMPUR ON NH 44.	UDHAMPUR	REGULAR	160	Open	CFS DC	20	20	400	32	95	Draw of Lots	15	5
	VILLAGE HILLOW, LHS ON SHOPIAN TO BIJBEHARA ROAD	SHOPIAN	RURAL	75	Open	DC	20	20	400	16	35	Draw of Lots	5	4
79	VILLAGE LITTAR, LHS TOWARDS SANGAM, ON PULWAMA SANGAM ROAD	PULWAMA	RURAL	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	VILLAGE MAHARAJPORA KONGAMDARA, 1 KM FROM MAHARAJPORA-KONGAMDARA BRIDGE TOWARDS PATTAN	BARAMULLA	RURAL		ST	CFS	20	20	400	0	0	Draw of Lots	0	2
81	VILLAGE DAMHAL HANJIPORA, ON RHS FROM SDPO D.H PORA TO TEHSIL OFFICE D.H PORA	KULGAM	RURAL	80	Open	CC	20	20	400	16	6	Bidding	10	4
82	VILLAGE KANELWAN, BETWEEN KANELWAN BUS STOP TO POSHKRIRI BUS STOP ON LHS FROM KANELWAN TO PAHALGAM	ANANTNAG	RURAL		Open	DC	20	20	400	16	35	Draw of Lots	5	4
83	VILLAGE KHAIGAM, LHS TOWARDS PAKHERPORA, ON PAKHERPORA-YOUSMARG ROAD UPTO 2 KM FROM GOVT. MIDDLE SCHOOL ON CHENANI-SUDHMAHADEV ROAD TOWARDS SUDHMAHADEV	PULWAMA UDHAMPUR	RURAL RURAL	70 130	OBC	DC CFS	20 20	20 20	400	16	35	Draw of Lots	5	3
84	UPTO 2 KM FROM GOVT, MIDDLE SCHOOL ON CHENANI-SUDHMAHADEV ROAD TOWARDS SUDHMAHADEV VILLAGE CHICHILORA, LHS FROM MAGAM TO TANGMARG	BARAMULIA	RURAL		SC Open	CFS	20	20	400	16	6	Draw of Lots Bidding	10	4
86	VILLAGE BUMTHAN, FROM MIR BAZAR CHOWK TO MIR BAZAR POLICE STATION ON RHS	ANANTNAG	RURAL		Open	DC	20	20	400	16	35	Draw of Lots	5	4
87	VILLAGE DEOT ON DHAR TO UDHAMPUR ROAD LHS WHILE MOVING TO UDHAMPUR.	UDHAMPUR	RURAL		OBC	DC	20	20	400	16	35	Draw of Lots	5	3
88	VILLAGE CHEERKOOT, WITHIN 500 METERS FROM J&K GRAMIN BANK TOWARDS KUPWARA ON LHS	KUPWARA	RURAL		Open	CC	20	20	400	16	6	Bidding	10	4
89	VILLAGE DEWANGARH ON SAIKALAN TO DEWANGARH ROAD	JAMMU	RURAL		ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	VILLAGE KULTOORA, WITHIN 1 KM FROM WATAIN ARMY CAMP TOWARDS CHOWGUL ON LHS	KUPWARA	RURAL	78	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	VILLAGE QUMROO, WITHIN 500 METERS FROM QUMROO VILLAGE TURN TOWARDS AIRZAL ON LHS OF HARDOPANZOO ROAD	BUDGAM	RURAL	75	Open CC-1	DC	20	20	400	16	35	Draw of Lots	5	4
92	VILLAGE BADAMI BAGH SHANGUS, FROM BDO OFFICE SHANGUS TO IDEAL PUBLIC SCHOOL ON LHS VILLAGE BHALWAL BRAHMANA ON KOUDEWALA ROAD TO POWER HOUSE. LHS	ANANTNAG JAMMU	RURAL RURAL	89 60	Open	DC CFS	20	20	400	16 0	35 0	Draw of Lots Draw of Lots	0	4
93	VILLAGE BHALWAL BRAHMANA ON KOUDEWALA KOAD TO POWER HOUSE, LHS VILLAGE CHITRAGAM. LHS FROM SHOPIAN TOWARDS BUBEHARA	SHOPIAN	RURAL	75	SC OBC	DC	20	20	400	16	35	Draw of Lots	5	3
95	HENGAM SIRGUFWARA, WITH 500 METERS FROM SHEEP BLOCK DEVELOPMENT OFFICE ON RHS TOWARDS PAHALGAM	ANANTNAG	RURAL	72	Open	DC	20	20	400	16	35	Draw of Lots	5	4
	VILLAGE BUGAM BATAPORA, WITHIN 500 METERS FROM MASJID UMAR SHIEKHPORA TOWARDS PAMPORE ON RHS	BUDGAM	RURAL		Open	CC	20	20	400	16	6	Bidding	10	4
97	VILLAGE RANJITPUR ON ARNIA-NANDPUR ROAD	JAMMU	RURAL	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
98	VILLAGE DOORU WITHIN 1.5 KM FROM KHAN SAHIB POLICE STATION ON RHS TOWARDS BUDGAM	BUDGAM	RURAL		OBC	DC	20	20	400	16	35	Draw of Lots	5	3
99	VILLAGE KOIL, WITHIN 500 METERS FROM ZUDHAMA BRIDGE TOWARDS PULWAMA TOWN ON RHS	PULWAMA	RURAL	77	Open	CC	20	20	400	16	6	Bidding	10	4
100	VILLAGE WARPORA, WITHIN 1 KM FROM ISLAMIA HIGH SCHOOL WARPORA TOWARDS SOPORE ON LHS VILLAGE KHALMULLA, LHS TOWARDS SHUHAMA, ON NAGBAL-SHUHAMA ROAD	BARAMULLA GANDERBAL	RURAL	81 100	Open CC-2 OBC CC-1	DC DC	20	20	400	16 16	35 35	Draw of Lots	5	4
101	VILLAGE KHALMULLA, LHS TOWARDS SHUHAMA, ON NAGBAL-SHUHAMA ROAD BETWEEN DODA BRIDGE TO NEW SUB DISTRICT HOSPITAL DANDI ON DODA-BHADERWAH ROAD.	DODA	RURAL	200	ST CC-1	CFS	20	20	400	1b 0	35	Draw of Lots Draw of Lots	0	3
103	VILLAGE WADOORA, WITHIN 500 MTRS FROM WADOORA BALA LINK ROAD CROSSING TOWARDS KUPWARA ON RHS	KUPWARA	RURAL	90	Open	CC	20	20	400	16	6	Ridding	10	4
104	VILLAGE DANGERPORA ON GANDERBAL MANASBAL ROAD, RHS TOWARDS MANASBAL	GANDERBAL	RURAL	80	Open	DC	20	20	400	16	35	Draw of Lots	5	4
105	VILLAGE QAIMOH, WITHIN 2 KMS FROM SADRA MOJI ZIYARAT QAIMOH TOWARDS KADDER ROAD ON LHS	KULGAM	RURAL	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
106	VILLAGE LAKHRI ON UDHAMPUR-DHAR ROAD.	UDHAMPUR	RURAL		ST	CFS	20	20	400	0	0	Draw of Lots	0	2
107	MAIDAN E CHOUGUL, WITHIN 800 METERS FROM CHOUGUL CHOWK NEAR HOSPITAL TOWARDS SOPORE ON RHS VILLAGE JABLIPORA, WITHIN 500 METERS FROM NH-44 CROSSING TOWARDS ARWANI ON RHS	KUPWARA ANANTNAG	RURAL		Open	CC DC	20	20	400	16 16	6 35	Bidding	10	4
108	VILLAGE JABLIPUKA, WITHIN 500 METERS FROM NH-44 CROSSING TOWARDS ARWANTON RHS VILLAGE NAGAM. ON CHADOORA CHARARE SHRIEF ROAD	BUDGAM	RURAL	64	Open	DC	20 20	20	400	16	35	Draw of Lots Draw of Lots	5	4
110	VILLAGE NIHAMA, WITHIN 1 KM FROM PHE WATER TANK TOWARDS KULGAM ON LHS	KULGAM	RURAL	89	Open	CC	20	20	400	16	6	Bidding	10	4
	WITHIN 1 KM FROM RAI NAGAR T-POINT TOWARDS IIR ON RHS	UDHAMPUR	RURAL		SC	CES	20	20	400	0	0	Draw of Lots	0	2
112	VILLAGE LOOSWANI, LHS FROM NEWA TO PAKHERPORA	PULWAMA	RURAL	65	Open	DC	20	20	400	16	35	Draw of Lots	5	4
	VILLAGE DAHARMUNA, LHS FROM SYEDPORA STOP TO PUBLIC MODEL SCHOOL GOTPORA DAHARMUNA	BUDGAM	RURAL		OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	VILLAGE LADHOO, ON LADHOO-LETHPORA MAIN ROAD	PULWAMA	RURAL	74	Open CC-1	DC	20	20	400	16	35	Draw of Lots	5	4
115	VILLAGE REHIAN ON SAMBA TO MAWA ROAD VILLAGE BUMNAL ON BISHNAH TO ARNIA ROAD	SAMBA	RURAL	60	ST OBC	CFS	20	20	400	16	35	Draw of Lots Draw of Lots	0	2
117	VILLAGE DRABGAM, ON LHS FROM PULWAMA TO PAKHERPORA	PULWAMA	RURAL		Open	DC	20	20	400	16		Draw of Lots	5	4
118	VILLAGE WATHORA, ON RHS FROM KRALPORA TOWARDS CHADOORA	BUDGAM	RURAL		Open	DC	20	20	400	16	35	Draw of Lots	5	4
	VILLAGE AND PANCHAYAT REHAL DHAMALIAN, TEHSIL BISHNAH	JAMMU	RURAL	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
120	ON JAMMU SURINSAR MANSAR ROAD FROM SIDHRA TO BAJALTA, REV VILLAGE BAJALTA. SIDRA BY PASS	JAMMU	RURAL	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
121	VILLAGE LASSIPORA, WITHIN 600 METERS FROM LASSIPORA SUMO STAND TOWARDS TAHAB ON LHS	PULWAMA	RURAL	86	Open	CC	20	20	400	16	6	Bidding	10	4
122	GOSHIBUGH, WITHIN 500 METERS FROM GOVT. HIGHER SECONDARY SCHOOL GOSHIBUGH ON LHS TOWARDS HAMREY VILLAGE AND PANCHAYAT NAJWAL TEHSIL BISHNAH	JAMMU	RURAL RURAL	105 60	Open	DC DC	20 20	20	400	16 16	35 35	Draw of Lots Draw of Lots	5	4
	VILLAGE RAKHRAJPURA, RHS FROM KALUCHAK ON KALUCHAK-PARMANDAL ROAD.	SAMBA	RURAL		ST	CFS	20	20	400	0	0	Draw of Lots	0	2
125	VILLAGE ZAINAPORA, FROM ZAINUL ABADEEN SUMO STAND TO IQBAL MEMORIAL SCHOOL ON RHS	SHOPIAN	RURAL	86	Open	DC	20	20	400	16	35	Draw of Lots	5	4
126	AT VILLAGE KOOH TEHSIL UDHAMPUR DISTRICT UDHAMPUR	UDHAMPUR	RURAL	90	Open	DC	20	20	400	16	35	Draw of Lots	5	4
127	VILLAGE KAWOOSA KHALISA, FROM WANIABAD MAIN STOP TO MASJID IQRA ON RHS TOWARDS GULMARG.	BUDGAM	RURAL		OBC PH	CC	20	20	400	16	6	Bidding	10	3
128	WITHIN 3 KM ON RHS FROM SMVD UNIVERSITY ON SMVD ROAD, TOWARD GOVT. MIDDLE SCHOOL CHACK BHAGTA.	REASI	RURAL	110	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
129	VILLAGE KALYAL (GURAH KALYAL), TEHSIL RAMKOT DISTRICT KATHUA BETWEEN MILESTONE NO. 57 AND 60	KATHUA	RURAL	60	Open	DC	20	20	400	16	35	Draw of Lots	5	4
130	VILLAGE MUKANDPUR CHOUDRIAN, LHS WHILE MOVING FROM KORE PUNNU TO SANJI MORE VILLAGE CHAK SARDAR DESA SINGH	KATHUA KATHUA	RURAL RURAL	60 60	Open	CC DC	20 20	20 20	400	16 16	6 35	Bidding Draw of Lots	10	4
	VILLAGE DINGA AMB ON DAYALACHAK TO SHALLAN ROAD	KATHUA	RURAL		Open	DC	20	20	400	16	35	Draw of Lots	5	4
133	VILLAGE BATTAL ON LHS WHILE GOING FROM BATTAL FOREST CHECK POST TO SAMBA.	UDHAMPUR	RURAL	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	VILLAGE BANI CHAK (ON SHERPUR TO CHAKRA ROAD)	KATHUA	RURAL	60	Open	DC	20	20	400	16	35	Draw of Lots	5	4
135	VILLAGE BADHORI, DISTRICT SAMBA	SAMBA	RURAL	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
136	VILLAGE GHO RAKWALAN (ON SWANKHA MORH TO CHANG ROAD)	SAMBA	RURAL	60	Open	CC	20	20	400	16	6	Bidding	10	4
137	VILLAGE DOOL ON KISHTWAR - PADDAR ROAD, DIST - KISHTEWAR	KISHTWAR	RURAL	190 100	ST OBC	CFS DC	20	20	400	16	35	Draw of Lots Draw of Lots	0	2
138	VILLAGE CHULLYAR, 10 KM FROM CHENANI BUS STAND TOWARD PANCHAYAT GHAR BASHAT. WITH IN 5 KM OF BARI BRAHMNA INDUSTRIAL AREA	SAMBA	RURAL	100	Open	CC	20	20	400	16 16	35 6	Draw of Lots Bidding	10	3 4
	VILLAGE KARANWARA (SABAR), TEHSIL MAHANPUR, ON MAHANPUR-BASOLI ROAD.	KATHUA	RURAL	100	Open CC-1	DC	20	20	400	16	35	Draw of Lots	5	4
141	VILLAGE MAITRA TO PARNOTE TOWARD GOOL, DIST. RAMBAN	RAMBAN	RURAL	150	OBC OBC	DC	20	20	400	16	35	Draw of Lots	5	3
142	VILLAGE PALAIE, TEHSIL SAMBA	SAMBA	RURAL		ST	CFS	20	20	400	0	0	Draw of Lots	0	2
_						_	_	_		_			_	

SI. No.	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimens ea of the sit M.). *			be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)										
1	2	3	4	5	6	7		8		8		8		8		8		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS			Area	Estimated working capital requireme nt for operation of RO(Rs. In Lakh)	required for developm ent of infrastruct ure at RO(Rs. In Lakh)	Bidding												
143	WITHIN 3 KM FROM TAWI BRIDGE TO MIDDLE SCHOOL JERRI ON LHS OF KHERAL-JERRI AKHNOOR ROAD BYPASS.	REASI	RURAL	160	Open	DC	20	20	400	16	35	Draw of Lots	5	4										
144	VILLAGE DEOLI, LHS ON BISHNAH TO ARNIA ROAD	JAMMU	RURAL	60	Open	DC	20	20	400	16	35	Draw of Lots	5	4										
145	VILLAGE KIRMOO, TEHSIL RAMNAGAR ON RAMNAGAR-UDHAMPUR ROAD.	UDHAMPUR	RURAL	100	OBC	DC	20	20	400	16	35	Draw of Lots	5	3										

SI. No.	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *		in So Finance to		1.)/Area of the site (in Sq.		M.)/Area of the site (in Sq.		M.)/Area of the site (in Sq.		M.)/Area of the site (in Sq.		M.)/Area of the site (in Sq.		M.)/Area of the site (in Sq.		/Area of the site (in Sq.		rea of the site (in Sq.		be arranged applicant	Mode of Selection	Fixed Fee / Minimum Bid amount(Rs. In Lakh)	Security Deposit(Rs. In Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12																
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO(Rs. In Lakh)	Estimated fund required for developm ent of infrastruct ure at RO(Rs. In Lakh)	Draw of Lots / Bidding																		
146	WITHIN 4 KM OF VILLAGE FATHEPUR, LHS TOWARD THANAMANDI.	RAJOURI	RURAL	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	2																
147	VILLAGE MOKHEY ON RS PURA TO CHAKROI ROAD (RHS)	JAMMU	RURAL	60	Open	DC	20	20	400	16	35	Draw of Lots	5	4																
148	BAGLA (SUCHANI), RHS, WHILE MOVING FROM RAHYA HIGHER SECONDARY SCHOOL TO CENTRAL UNIVERSITY	SAMBA	RURAL	60	Open	CC	20	20	400	16	6	Bidding	10	4																
	AT REV VILLAGE MANSAR, ON UDHAMPUR TO PANCHARI ROAD, DISTRICT AND TESHIL- UDHMAPUR.	UDHAMPUR	RURAL	120	Open	DC	20	20	400	16	35	Draw of Lots	5	4																
150	VILLAGE NARNOO BHADERWAH ON PUL DODA TO BHADERWAH ROAD.	DODA	RURAL	110	OBC CC-1	DC	20	20	400	16	35	Draw of Lots	5	3																
151	VILL KHANPUR ON VIJAYPUR TO KHANPUR ROAD	SAMBA	RURAL	60	SC CC-1	CFS	20	20	400	0	0	Draw of Lots	0	2																
152	VILLAGE CHOHALLA ON RS PURA TO CHOHALLA ROAD	JAMMU	RURAL	65	Open PH	CC	20	20	400	16	6	Bidding	10	4																
153	VILLAGE GURHA SLATHIA	SAMBA	RURAL	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3																
		JAMMU	RURAL	60	Open	DC	20	20	400	16	35	Draw of Lots	5	4																
155	WITHIN 3 KM OF REVENUE VILLAGE BAGHA ON KATRA- REASI ROAD	REASI	RURAL	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	2																
156	VILLAGE KHARTA (PANCHAYAT KISHANPUR KHARTA) ON DHAR UDHAMPUR ROAD	JAMMU	RURAL	60	Open	CC	20	20	400	16	6	Bidding	10	4																
157	VILLAGE BAIN BAJAL	JAMMU	RURAL	60	OBC	CC	20	20	400	16	6	Bidding	10	3																
158	MOHORE TOWN TO SARH TOWARDS BUDHAL	REASI	RURAL	100	Open	DC	20	20	400	16	35	Draw of Lots	5	4																
		UDHAMPUR	RURAL	140	Open	DC	20	20	400	16	35	Draw of Lots	5	4																
160	VILLAGE BARMEEN ON UDHAMPUR TO BARMEEN ROAD (BETWEEN STEEL BRIDGE TO AYURVADIC DISPENSARY)	UDHAMPUR	RURAL	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	2																
	FROM VILLAGE LORAN TO BUDHA AMARNATH TEMPLE, TEHSIL MANDI	POONCH	RURAL	80	OBC	CC	20	20	400	16	6	Bidding	10	3																
162	NAGRI PAROLE, 2 KM FROM NAGRI- PAROLE TOLL PLAZA, TOWARDS GURUNANAK DEV COLLEGE,RHS	KATHUA	RURAL	150	Open	DC	20	20	400	16	35	Draw of Lots	5	4																

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details.

The Brochure is available in the Corporation Website (lows) that retperiodeum.in / www.petroloumpdealerchayam.in) and can be downloaded free of cost.

The effortune is available in the Corporation Wester (aww.mata/septoneum.in / may pertopumpose) recirrayam.in) and can be downloaded tree of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULY GO THROUGH THE "SROCHUSE" AND UNDERSTAND CONDITIONS OF SELECTION
BEFORE SUBMITTIME THEIR APPLICATION.
Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

			Application Fee in		Type of		Applicati on Fee in
Type of RO	Type of Site	Category	Rs.	Type of RO	Site	Category	Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular Ros	CC	Open	10000	Rural Ros	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
I	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

he tacity for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.
The tenure of the dealership shall be for an initial period of 15 years and receivable every 5 years thereafter.
This is only a notice inviting application for allotment of R0 dealership and not an offer of R0 dealership.
The Corporation reserves the right to cancel/withdraw amend this advertisement or extend the due date at its sole discretion without assigning any reason.
In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any discrete.
For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Territory	Distt Covered	Address	Contact no
	SAMBA KATHUA		
	JAMMU		
	RAJOURI	_	
	UDHAMPUR	_	
	REASI	Territory	
	POONCH	Coordinator,	
	DODA	Retail, Jammu,	
	RAMBAN	Bharat Petroleum	
	LEH	Corporation	
IAMMU	KARGIL	Limited, B-2,	7865933222
	KISHTWAR	South Block, 4th	
	PULWAMA	Floor, Bahu Plaza	
	BARAMULLA		
	SRINAGAR	Complex, Jammu	
	KUPWARA	Tawi. J&K, Pin -	
	SHOPIAN	180004	
	BANDIPORA		
	ANANTNAG		
	BUDGAM	_	1
	GANDERBAL		1
	KULGAM	7	ĺ